Advertised: June 23, 2009 (Agenda Item: 3.49) Bids Open: 2 pm Date: Wednesday, July 15, 2009 PROJECT: Palomar and Bryant Street 8' DG Trail Project.
Palomar Street: From Morelock Way to Mission Trail
Bryant Street: From Grand Avenue to Palomar Street

PROJECT NO. B8-0662

					COUNTY'S EST	IMATE	ELITE CONSTRUCTION Long Beach, CA 90807	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	UNIT PRICE	ENG ESTIMATE	BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	1,000.00	1,000.00	5,000.00	5,000.00
2	074020	WATER POLLUTION CONTROL	LS	1	4,000.00	4,000.00	5,000.00	5,000.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	5,000.00	5,000.00	3,000.00	3,000.00
4	152370	RELOCATE MAILBOXES	EA	34	200.00	6,800.00	90.00	3,060.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	4,000.00	4,000.00	10,000.00	10,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	400.00	800.00	1,500.00	3,000.00
7	190101	ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	3.50	4,375.00	4.00	5,000.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	60,000.00	60,000.00	18,000.00	18,000.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	400.00	6,000.00	133.00	1,995.00
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	28.00	62,692.00	14.30	32,017.70
		PROJECT TOTAL				_		
		ITEMS 1-10				154,667.00		86,072.70

					POST EARTHWORKS Co	ONSTRUCTORS	PETERS CONCRETE Redlands, CA 92374	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	1,000.00	1,000.00	3,500.00	3,500.00
2	074020	WATER POLLUTION CONTROL	LS	1	1,500.00	1,500.00	850.00	850.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	7,257.00	7,257.00	2,200.00	2,200.00
4	152370	RELOCATE MAILBOXES	EA	34	200.00	6,800.00	100.00	3,400.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	3,828.00	3,828.00	23,000.00	23,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	1,608.00	3,216.00	200.00	400.00
7	190101	ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	7.08	8,850.00	9.00	11,250.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	42,163.20	42,163.20	32,000.00	32,000.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	96.13	1,441.95	150.00	2,250.00
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	10.27	22,994.53	12.25	27,427.75
		PROJECT TOTAL		_				400 077 75
		ITEMS 1-10				99,050.68		106,277.75

Palomar & Bryant.xls:Summary-Web

Updated:07/16/09 Page 1 of 5

Advertised: June 23, 2009 (Agenda Item: 3.49) Bids Open: 2 pm Date: Wednesday, July 15, 2009 PROJECT: Palomar and Bryant Street 8' DG Trail Project.
Palomar Street: From Morelock Way to Mission Trail
Bryant Street: From Grand Avenue to Palomar Street

PROJECT NO. B8-0662

					S&S Grading and Paving	•	SIM ENGINEERING, IN	С.
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	Norco, CA 92860 BID UNIT PRICE	BID ESTIMATE	Fallbrook, CA 92028 BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	10,000.00	10,000.00		
2	074020	WATER POLLUTION CONTROL	LS	1	2,000.00	2,000.00	2,000.00	•
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	3,750.00	3,750.00	5,000.00	5,000.00
4	152370	RELOCATE MAILBOXES	EA	34	142.00	4,828.00	100.00	3,400.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	6,100.00	6,100.00	5,000.00	5,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	1,000.00	2,000.00	1,000.00	2,000.00
7	190101	ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	17.00	21,250.00	8.80	11,000.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	42,900.00	42,900.00	65,000.00	65,000.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	220.00	3,300.00	215.00	3,225.00
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	10.41	23,307.99	11.00	24,629.00
		PROJECT TOTAL ITEMS 1-10				119,435.99		124,254.00

					NATURE TECH LANDSO	•	JMJ CONTRACTORS, Hesperia, CA 92345	INC.
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	6,600.00	6,600.00	1,890.00	1,890.00
2	074020	WATER POLLUTION CONTROL	LS	1	5,600.00	5,600.00	882.00	882.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	10,585.00	10,585.00	4,410.00	4,410.00
4	152370	RELOCATE MAILBOXES	EA	34	159.25	5,414.50	136.80	4,651.20
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	4,745.00	4,745.00	5,475.00	5,475.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	708.00	1,416.00	1,890.00	3,780.00
7		ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	13.32	16,650.00	17.78	22,225.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	56,787.25	56,787.25	61,627.00	61,627.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	211.50	3,172.50	211.68	3,175.20
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	10.25	22,949.75	12.27	27,472.53
		PROJECT TOTAL						
		ITEMS 1-10				133,920.00		135,587.93

Palomar & Bryant.xls:Summary-Web

Updated:07/16/09 Page 2 of 5

Advertised: June 23, 2009 (Agenda Item: 3.49) Bids Open: 2 pm Date: Wednesday, July 15, 2009 PROJECT: Palomar and Bryant Street 8' DG Trail Project.
Palomar Street: From Morelock Way to Mission Trail
Bryant Street: From Grand Avenue to Palomar Street

PROJECT NO. B8-0662

					ELITE BOBCAT SERVIC	E, INC.	EXCAVATING ENGINE	ERS, INC.
					Corona, CA 92879	•	Bonsall, CA 92003	•
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	1,200.00	1,200.00	9,000.00	9,000.00
2	074020	WATER POLLUTION CONTROL	LS	1	1,525.00	1,525.00	2,000.00	2,000.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	1,600.00	1,600.00	7,500.00	7,500.00
4	152370	RELOCATE MAILBOXES	EA	34	185.00	6,290.00	250.00	8,500.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	4,000.00	4,000.00	4,000.00	4,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	825.00	1,650.00	2,000.00	4,000.00
7	190101	ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	16.00	20,000.00	11.50	14,375.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	65,000.00	65,000.00	56,960.85	56,960.85
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	235.00	3,525.00	200.00	3,000.00
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	14.00	31,346.00	12.85	28,771.15
		PROJECT TOTAL						
		ITEMS 1-10				136,136.00		138,107.00

					B&T WORKS, INC. Wildomar, CA 92595		GRAND PACIFIC CONT	FRACTORS, INC.
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	2,000.00	2,000.00	2,000.00	2,000.00
2	074020	WATER POLLUTION CONTROL	LS	1	2,000.00	2,000.00	1,500.00	1,500.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	2,500.00	2,500.00	8,000.00	8,000.00
4	152370	RELOCATE MAILBOXES	EA	34	275.00	9,350.00	300.00	10,200.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	2,500.00	2,500.00	8,000.00	8,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	1,200.00	2,400.00	950.00	1,900.00
7	190101	ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	10.00	12,500.00	4.25	5,312.50
8		CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	55,450.00	55,450.00	60,000.00	60,000.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	250.00	3,750.00	235.00	3,525.00
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	22.50	50,377.50	20.00	44,780.00
		PROJECT TOTAL						
		ITEMS 1-10				142,827.50		145,217.50

Palomar & Bryant.xls:Summary-Web

Updated:07/16/09 Page 3 of 5

Advertised: June 23, 2009 (Agenda Item: 3.49) Bids Open: 2 pm Date: Wednesday, July 15, 2009 PROJECT: Palomar and Bryant Street 8' DG Trail Project.
Palomar Street: From Morelock Way to Mission Trail
Bryant Street: From Grand Avenue to Palomar Street
PROJECT NO. B8-0662

					DAGHLIAN GRADING, II		RENDT, INC.	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	Fallbrook, CA 92088 BID UNIT PRICE	BID ESTIMATE	El Cajon, CA 92021 BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	4,980.00	4,980.00		
2	074020	WATER POLLUTION CONTROL	LS	1	2,955.00	2,955.00	,	,
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	9,850.00	9,850.00	4,500.00	4,500.00
4	152370	RELOCATE MAILBOXES	EA	34	350.00	11,900.00	191.00	6,494.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	3,948.00	3,948.00	4,000.00	4,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	2,640.00	5,280.00	2,280.00	4,560.00
7	190101	ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	31.54	39,425.00	15.20	19,000.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	42,917.00	42,917.00	45,370.00	45,370.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	247.00	3,705.00	253.30	3,799.50
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	11.16	24,987.24	15.47	34,637.33
		PROJECT TOTAL ITEMS 1-10				149,947.24		153,120.83

					INTERNATIONAL PAVE	MENT SOLUTIONS, INC	G. HURTADO CONSTR	UCTION, INC.
					San Bernardino, CA 924	23	Riverside, CA 92504	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	500.00	500.00	8,000.00	8,000.00
2	074020	WATER POLLUTION CONTROL	LS	1	1,000.00	1,000.00	7,000.00	7,000.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	2,500.00	2,500.00	5,500.00	5,500.00
4	152370	RELOCATE MAILBOXES	EA	34	170.00	5,780.00	360.00	12,240.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	3,800.00	3,800.00	4,000.00	4,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	900.00	1,800.00	1,500.00	3,000.00
7		ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	13.76	17,200.00	14.00	17,500.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	96,500.00	96,500.00	68,000.00	68,000.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	250.00	3,750.00	330.00	4,950.00
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	11.30	25,300.70	15.00	33,585.00
		PROJECT TOTAL						
		ITEMS 1-10				158,130.70		163,775.00

Palomar & Bryant.xls:Summary-Web

Updated:07/16/09 Page 4 of 5

Advertised: June 23, 2009 (Agenda Item: 3.49) Bids Open: 2 pm Date: Wednesday, July 15, 2009 PROJECT: Palomar and Bryant Street 8' DG Trail Project.
Palomar Street: From Morelock Way to Mission Trail
Bryant Street: From Grand Avenue to Palomar Street
PROJECT NO. B8-0662

					SOUTHLAND CONSTRU		NPG, INC. Perris, CA 92572	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	· '	BID ESTIMATE	BID UNIT PRICE	BID ESTIMATE
1	066102	DUST ABATEMENT	LS	1	500.00	500.00	4,500.20	4,500.20
2	074020	WATER POLLUTION CONTROL	LS	1	1,000.00	1,000.00	5,000.00	5,000.00
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	3,000.00	3,000.00	10,000.00	10,000.00
4	152370	RELOCATE MAILBOXES	EA	34	100.00	3,400.00	360.00	12,240.00
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	40,000.00	40,000.00	18,000.00	18,000.00
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	750.00	1,500.00	1,500.00	3,000.00
7	190101	ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	10.00	12,500.00	17.00	21,250.00
8	000003	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	88,000.00	88,000.00	75,000.00	75,000.00
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	300.00	4,500.00	199.00	2,985.00
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	10.00	22,390.00	12.20	27,315.80
		PROJECT TOTAL				176,790.00		170 201 00
		ITEMS 1-10				176,790.00		179,291.00

					SO CAL SANDBAGS, IN Corona, CA 92883	C.	
ITEM NO.	ITEM CODE	CONTRACT ITEM	UNITS	QUANTITY	BID UNIT PRICE	BID ESTIMATE	
1	066102	DUST ABATEMENT	LS	1	8,160.00	8,160.00	
2	074020	WATER POLLUTION CONTROL	LS	1	5,300.00	5,300.00	
3	120100	TRAFFIC CONTROL SYSTEM	LS	1	15,530.00	15,530.00	
4	152370	RELOCATE MAILBOXES	EA	34	325.00	11,050.00	
5	160101	CLEARING AND GRUBBING [INCLUDING APPLICATION OF HERBICIDE, REMOVE AND DISPOSE OF WOOD POSTS, TRIM AND DISPOSE OF TREES/BUSHES]	LS	1	3,180.00	3,180.00	
6	160120	REMOVE TREE [INCLUDING DISPOSE OF TREES]	EA	2	1,250.00	2,500.00	
7		ROADWAY EXCAVATION AND EARTHWORK [INCLUDING RECOMPACTION OF EXISTING SOIL AREA AND PROFILE GRADE]	SQYD	1,250	30.04	37,550.00	
8	(1010101013	CONSTRUCT TRAIL (DECOMPOSED GRANITE THICKNESS = 0.33') (INCLUDING APPLICATION OF ANTI-SLIP PAINT)	LS	1	61,000.00	61,000.00	
9	566011	ROADSIDE SIGN - ONE POST [R26 (CA) & (W11-7)]	EA	15	275.00	4,125.00	
10	000003	POLYVENYL CHLORIDE (PVC) FENCE PER DETAIL "G"	LF	2,239	18.43	41,264.77	
		PROJECT TOTAL					
		ITEMS 1-10				189,659.77	

Palomar & Bryant.xls:Summary-Web

Updated:07/16/09 Page 5 of 5

Subcontractors

Project: Palomar and Bryanr Street 8' DG Trail.

Project Nos.: B8-0662

Apparent Low Bidder: Elite Construction

Subcontractor Name	Description of work
NO Sub listed	